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5. Factor
(1) Ce :2.163
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6. Check Axial Strength

300

(1) Check slenderness ratio of axial compression member

* KLir =213 > 200 — Not A ptabl ®
(2) Check width-thickness ratio of flange (BTR)

+ A=0.56/E /F, =16.54

« BTR=b /2t =10.00 = & — Noncompact
(3) Check depth-thickness ratio of web (DTR)

* A=1.49]E /F, =44.01

* Do = H - tn - te = 270mm

* DTR = Due / tw = 23.40 <= A, — Noncompact
(4) Calculate flexural buckling stress (F... )

-F.= ﬁ: 44.58MPa
+ KLir=213=471 fE. IF, =139
+ F., =0.877 F. = 39.08MPa
(5) Calculate axial compressive strength (oF. )
* F. = 39.09MPa

+ Resistance factor for compression : @ = 0.900

* 0P, = o F. Area = 421kN
* P, /eP, = 0.0170 < 1.000 — O.K
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6. Check Axial Strength

+ KLiIr=46.55 <200 — O.K
(2) Check width-thickness ratio of flange (BTR)
*+ A=056|E-/F, =16.54
+ BTR =b¢/ 2 t:= 10.00 < A — Noncompact
(3) Check depth-thickness ratio of web (DTR)
+ A=149|E./F, =44.01
* Duee = H - ta - to = 270mm
¢« DTR = D, / 1, = 23.40 < A, — Noncompact
(4) Calculate flexural buckling stress (F4 )
+ Fo= %r= 934MPa
» KL/r= 46.55<4.71 [E./F, =139
+ Far = (0.658777) F, = 212MPa
(5) Calculate axial compressive strength (8P, )
* Foe=212MPa

+ 6P, =5 F. Area = 2280kN
+ P./oP, =0.000884 < 1.000 - O.K

+ Resistance factor for compression : & = 0.900
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(1) Check slenderness ratio of axial compression member
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